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3.3.5

31a (3 mwp) 3 32b (125 KD)

Note #1: the 1710 prohibits eating “new grain” (w7n) that has sprouted since the last year’s 1071 1377 before the

current year’s 9¥77 1297 is brought; as soon as it is brought, the new grain may be eaten

Note #2: there is a rabbinic prohibition against separating nr1wynr mmrn in the absence of the affected food (971071 1o 85Y)
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L. 2 mwn: acceptable and non-acceptable foods for an 2y
a. Acceptable: these are “borderline” permissible and work for an 2y1p
i. T even though he isn’t an 1y —he could become one instantaneously
ii. w1 5V 77vp: in case the nY took his nmn in the field and he separated n"1n w/o 310
1.As per: 7nar 1 — v. 1 - only 7wynn jn 7wyn, not 31N from 1wyn
a) Challenge (7arn5 x99 77): even if " took 71”yn at granary, should be exempt from 3n
b) Response: v. 2 applies — nyn1wyn Yan (difference — once it gets to granary, it is 137)
iii. r7o2w w7 VYL justification — even if he didn’t give wnn - wmin is not indispensable for 1179
iv. 75m: for mand only
b. Unacceptable: these are “borderline” forbidden and are therefore invalid for 277y
i. 5av justification — even 13277 Y20 e.g. in a potted plant with a sealed bottom
ii. oy 75V R5W 77vp: as per Raa “Y's challenge to »ar (above)
ili. w7Pm wymthat weren’'t redeemed:
1.w7pp: if he redeemed it on a slug, as per v. 3
2.»7pi. if he redeemed it on land, not a coin — as per v. 4
I. 13 mwn: appropriate and inappropriate agents for sending the 211y
a.invalid: incompetents (deaf-mute, imbecile, minor); sectarian (who doesn’t subscribe to the institution of y217y)
i. however: if you appointed a proper agent to receive it from them, it is a valid 2y
1.challenge: perhaps the incompetent won’t bring it
a)  solution (8701 7): you watch from afar
i. concern: nonetheless, perhaps your agent won’t accept it
ii. solution (5x’n’’7): we rely on an agent to complete his agency — 1mn5w nvwy mYw npm
1.note: original context of XTon "1 and Y81’ "1 was ina parallel case, using animals to bring 1y
III. Tangential dispute between jnn1 "7 and NYW 7 as to whether 1MM5w WY MYV PPN applies even to XRNPIRT (V™)
a. Proof for ™ n:> mman — we may eat wn after midday on j021 19, as we know that 1”2 offers 1nyn 129p immediately
i. 177 thatis a unique npm of 771 (in n”a) that they are not lax about 1nyn 127p (cf. note #1)
b. Alternative version: as proof for 1, from added line 12 PYxynn pr 12w PYTIY
i. w77 71"2's added “mv1” allows us to eat by midday; ymm»>w nww nHw nprn would allow us by end of day
c. Proof for v nar/n15y» may rely that her moneys were used and jp was brought that day — and may eat nw7p
i. 177 that is a(nother) unique npm — that 772 of 01N> use up all donations each day
d. Proof for w™. if 1an sends yIxn oy to collect from his tree, we rely that he took n"n (if not for issue of 9719 —cf. note #2)
i. 71 thatis (again) a unique NP — JPINN WRY 127 1T ANAN RVIN 120 PR
IV. Tangent (within tangent): dispute between »17 and his father (3”2v1) about assumption that 7an took n"1n
a.First clause: assumes that the collector is 7an (who will heed our ruling);
i. But: 2" clause assumes colletor is 0"y — but he won’t heed our ruling
ii. Answer (81227): 2" clause involves a 2"d 9an who overhears donor’s directive
1.227: the owner-1an prefers violating “9p M'R” (9pM) & not cause "y to violate a gross prohibition (52v)
2.272w7. 7an prefers not to violate even a “light” MR (9pn), even allowing another to violate 711N MoK
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